= o
A & 0l & AF 2 E A A
SN BEBRS HEEAY
M MEAN HECA FAIY X4
gl BFEA x4 (el &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
g2 3 MY 7,699,147 9,390, 391 A1,691,244
= 2,662,700
J| 108,000
< 352,160
Al 4,576,287
detZdH HEEA FEIIB =4 2,790,021 2,423,637 366,384
= 442,500
< 109,450
Al 2,238,071
BFACA =4 1,696,041 1,117,497 578,544
oY @A L U =L 7,105 6,605 500
201 Let24d] 2,105 1,605 500
01 At 22/l 2,105 1,605 500
oOstdUA HIOzE M2
35,000& = 15& 525
OAMN L ARZ BAE HA 80
OEdtE 80,000& * 1HA * 13 80
OstdoAY A & TH 150,000& * 1074 1,500
307 glz2tol & 5,000 5,000 0
04 DI2HHALALSE E X 5,000 5,000 0
ORIt &Z2 & &AL 5,000,0008 * 12 5,000
cHQIESEWEAMSE 22l 6,274 6,884 A610
201 L4l 2,874 3,384 A 510
01 At 2t 2l 2,370 3,090 AT20
OXHQAAND SHEH B4
80,000& = 23 160
O+ZTQAAND Oy B2 B2
80,000& = 23 160
O AML dTHEHME ===
500,000& = 2& 1,000
OSZ2E ML HE QLIEEEAMN ==&
350,000& * 33l 1,050
02 Z=2Z4l 504 294 210
O A& &8l S X bl 504
OpH=ZE DI 1,400,000& * 6% 84
ODO=&E | 3,500,000& * 2J0 * 6% 420
206 = Hl 3,400 3,500 A 100
01 MHZ 4l 3,400 3,500 A 100
O=Z 22 Yl 2,000
ORYSHIE 100,000& = 5&tA 500
OLEXE 150,000& * 102 1,500
O=ZZAE I ¢ 1,400




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Of2M=S 3,000& = 3004 900
OM=g 2,500& = 2004 500
s Y IIEER 22 295,000 0 295,000
207 A O] 295,000 0 295,000
01 284 295,000 0 295,000
OJNFAEHEXNS NECH Hd DAl 29
295,000,000 * 14l 295,000
QEH X2 AlE 22/ X& 102,880 23,763 79,117
101 14 dl 400 700 A 300
04 JIZHHZ2XNHESE S 400 700 A 300
OFQXEANY =& & DB2te 400
OFE=FtHl 200,000& = 23| 400
201 Let24d] 14,560 8,236 6,324
01 At 2teltl 2,560 2,236 324
obtgot==(Ad22,4ge) =ZAME
80,000& * 244 * 128 1,920
O2% SUHA S58 YANY DY (MY,
Al) 640
ogas 100,000& * 3¢ 300
Ootd st 80,000& * 3% 240
OAHel=ED| 100,000& * 14 100
02 =224l 12,000 6,000 6,000
ootsdta==(Ad2e], &tdel) MII=
500,000& = 2 = 12& 12,000
402 BIZHXHZ 01 & 87,920 14,827 73,093
02 BI2HCH & A& HI 87,920 14,827 73,093
Ottsdt== (A &2el, 4 e]) & 2eltl
500,000& = 20 = 12& 12,000
ontsst==(Ad2el, &ddel)=HelAld |
=l 5,920
OdsdEID & E3JIANHE
300,000& = 20CH = 1/3 2,000
Oouvatz | 500,000& * 2CH 1,000
Oz2 2 HMel== A4
60,000& * 20m * 2JHA * 1/2 1,200
O&& & HOEtAIE 500,000& » 20H 2 1,000
(OFFSESIF-EN 20& * 2JH A+ 18,000 720
ontgot==(Ad22],442l) J=& e
70,000,000& = 14! 70,000
=N A S 433,132 302,035 131,097
401 Al HIZ 201 Y] 433,132 302,035 131,097
01 A& HI 430,013 299,860 130, 153




2N
X ZH -
L= B

el

s BAFHY
HEHIX HHCA
HACA XA

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFZMLAMNS(XNEHH)
430,013,000& * 14! 430,013
03 A& 2 THHI 3,119 2,175 944
OAIE 2 HHI 3,119,000& 3,119
sEHE 2L 725,800 731,100 A5,300
207 RO 19,000 17,100 1,900
01 A7 39l 19,000 17,100 1,900
O4+ZTAEYRE UATSAL U 0FE 2
UEE 19,000,000& = 14l 19,000
307 21201 A 706,800 714,000 AT7,200
05 RIZt2IEt = 706,800 714,000 AT,200
OMN=EEL(HZ) At el
62,000& = 1,140 » 10& 706,800
SHZEHAHF 120,000 0 120,000
207 A RO 120,000 0 120,000
01 289 120,000 0 120,000
OBFNSZLHZSNE 48 89
120,000,000 * 14l 120,000
Sdotld ZEE 3HMel 5,850 0 5,850
201 24l 5,850 0 5,850
01 At 22l 5,850 0 5,850
OLet&EH =& 20,000& = 200A 4,000
O=2Jt8EXN =g 30,000& « 123 360
OMHELRIEE =T 330,000& * 2A 660
OXNENE N8 2285 72¥ 830
(OF-! 330,000& * 28tA 660
== 170,000& * 1MIE 170
90 JHRE tHoI1Ed =4 1,093,980 1,211,567 A 117,587
= 442,500
< 109,450
Al 542,030
HANANEESAY 487,000 820,000 333,000
= 243,500
< 73,050
Al 170,450
402 RI2FXt20l 487,000 820,000 A 333,000
= 243,500
= 73,050
Al 170,450
01 22t t= AP E XL 487,000 820,000 A 333,000
odHIA-Gl0IEE 2 XA
40,000,000& * 2CH 80,000
= 40,000




2N
X ZH -
L= B

el

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 12,000
Al 28,000
OFAHAINAHA 2 XA
18,500,000& = 22CH 407,000
= 203,500
< 61,050
Al 142,450
Jl & XISAHisSotA 22 262,456 97,621 164,835
201 LBt Y| 259,156 92,871 166,285
01 AP 22| H| 252,720 90,720 162,000
OWIIEHMNS A= AUH
63,000,000& * 4CH 252,000
OXNSXHMEINASHI| HEEA =42 720
OZEUA HASEHD| 250,000& ~ 10CH 250
OCO/HC =& )| 200,000& ~ 1CH 200
OMA=dE dHICI22tH 2t 120,000& = 1CH 120
Olfe EZZEH 2E o D
50,000& = 3JH 150
02 E2=2=24%H| 6,436 2,151 4,285
O A& &l S XYl 1,377
OXNSXEHE LA CO/HCE HE D
9,424 000 * 6% 566
OXSXHEIIA HHA=H D]
13,510,000 * 6% 811
022322 % HA 760
OXE XA 170,000 = 1CH 170
OXNsiHEE 500,000& ~ 1CH 500
Ot Eg=2 45,0008 * 23] 90
OXABHH| (2=4Hl, RFHI)
4,299,000& ~ 1CH 4,299
206 M = Hl 3,300 4,750 AN 1,450
01 X2 H| 3,300 4,750 AN 1,450
ostF=FZEH JINM 2L 3,300
OMEHIC S$#=2 HolZ(¢Hs8)
50,000 = 60H 3,000
Osalg (L) 3,000& * 1004 300
s - s 2 1,032 1,032 0
201 £Bt24 | 1,032 1,032 0
01 AP 2t 2| H| 132 132 0
OASTSEHI AN 248
44 000 * 304 132
02 2% H| 900 900 0
OASAES=AI| KA 2e2ldl 300,0008 = 3CH 900
IS AEAM 2H 67,692 28,314 39,378




2N
X ZH -
L= B

el

s BAFHY
NSAN HETA 2|8 X4
9D M| OB XA

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 Lt 67,692 28,314 39,378
01 At 22l 6,120 2,796 3,324
OO0IMZRX & LEZEN 28 822
1,000& = 1,50004 1,500
osITHABA S|
7,000& * 2% = 80 1,120
ollgdze =4l uH
3,500,000& * 1CH 3,500
02 =224l 61,572 25,518 36,054
OUIIQIHZE HIIAZZ(20H4)
950,000& = 12& 11,400
oJllegdan SIS (2FWUEHA)
130,000& * 128 1,560
OIS ZE FA22ltl(2H4)
1,200,000& » 2002 = 120H& 28,800
OEZTEAEA FH SAZeldl(2002) 19,812
OMEUNZ 115,292,0002 * 6% 6,918
(@)= 3=ige PN 214,900,000& * 6% 12,894
HHOtA AzH XN 20,000 20,000 0
= 10,000
< 3,000
Al 7,000
307 21201 A 20,000 20,000 0
= 10,000
< 3,000
Al 7,000
02 QIAFLANGFEX 20,000 20,000 0
O&EAINAHAAZH XA 20,000,000& 20,000
= 10,000
< 3,000
Al 7,000
S0 MsAdU EXAHY 233,800 226,800 7,000
2 167,000
< 33,400
Al 33,400
402 2I2H X201 M 233,800 226,800 7,000
= 167,000
< 33,400
Al 33,400
01 It AP E X 233,800 226,800 7,000
OM=AHUY XA 11,690,000 = 20CH 233,800
= 167,000
< 33,400
Al 33,400
SIS A ESAY 22,000 0 22,000
= 22,000




SN BFeRS MY
M MEAN HECA FAIY X4
SH9l: 9D JWRe OPIIBY X4 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
402 RI2EX20l A 22,000 0 22,000
= 22,000
01 It 2 AL E X 22,000 0 22,000
oglnEsS8 MIIAsA *Hl K&
15,000,000& = 1CH 15,000
= 15,000
otuEsS8 MIIANsX SHAE N&
7,000,0008 * 1CH 7,000
= 7,000
etZH HFHEA FEIIBEA 4,427,734 4,537,984 A 110,250
= 2,220,200
J| 108,000
= 242,710
Al 1,856,824
SMEtH MEst 2,790,891 3,285,413 AN 494,522
2 1,601,000
Al 1,189,891
SZMENE 45t 82,200 109,600 A 27,400
201 ¢er24| 12,200 11,600 600
03 A2 Z Hl 12,200 11,600 600
OSZMEH NS 12,200
Oxtg gx= 220,000& = 303l 6,600
Ousklz 2,000& = 5008 1,000
O A=< 4,600
-JI& 120,000& = 1% = 302 3,600
-= 1t 100,000& = 1% » 108 1,000
307 21201 A 70,000 98,000 A 28,000
02 B LAHEX 70,000 98,000 A 28,000
ounssd MExzz2d 29 70,000,000& 70,000
I ZEHS M =& 213,500 55,800 157,700
201 Let249] 3,500 5,800 22,300
01 At 22l 3,500 5,800 A 2,300
OEBAZOIE ot & AEAM HZE
200& * 10,0000H 2,000
OJI=gs 222 M 300& = 5,0000H 1,500
207 ROl 90,000 0 90,000
01 289 90,000 0 90,000
O24 A MUXNSEZ2M(HIIESEZ) A
N &Hd 2 H2EHE 90,000,000& * 1A 90,000
307 glz2tol & 120,000 50,000 70,000
02 It M AHEE 120,000 50,000 70,000
OJIZFHSIHE =sMOISRSI| AEFA
120,000,000 * 1A 120,000




SN BEBRS HEEAY
M MBAN HECA ZHIUEA
Sl =MEY ME (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
EtAEQIER A Al 76,000 86,000 A 10,000
= 38,000
Al 38,000
301 LEtE A= 76,000 86,000 A 10,000
= 38,000
Al 38,000
11IIEEAS 76,000 86,000 A 10,000
OEHAZAEN 2Y 10,000& = 7,600l CH 76,000
= 38,000
Al 38,000
JelAEBERS DIt =S 34,000 20,000 14,000
= 17,000
Al 17,000
307 21201 A 34,000 20,000 14,000
= 17,000
Al 17,000
02 QIAHFAAHEX 34,000 20,000 14,000
O=MEZYEYD 29
34,000,000& * 10H A 34,000
= 17,000
Al 17,000
HF: M 02 SSEA T4 2,385,191 2,860,000 A 474,809
= 1,546,000
Al 839, 191
401 Al B2 28I 2,385,191 2,860,000 A 474,809
= 1,546,000
Al 839, 191
01 A& HI 2,342,097 2,808,327 A 466,230
OF==H HZ2-BEA =4
2,342,097,000& * 14 2,342,097
= 1,546,000
Al 796,097
02 Zeltl 34,663 41,564 26,901
OBZE2H HZ-ZEAA T4 2l
34,663,000 34,663
03 A& =2 THHI 8,431 10,109 A 1,678
OFF==H -2 A & AIZ2UHI
8,431,000& 8,431
MEIZ Al EEXH 1,636,843 1,252,571 384,272
= 619,200
| 108,000
< 242,710
Al 666,933
Egduy ¢ 22 540 300 240
206 M= Hl 540 300 240




SN sABRR BRI
M ABAN BECA ZRIBEY
el MEIC Al BIAXA CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 X2t 540 300 240
OEL2A Al MFA2DI 6,000 * 904 540
KHAMEN EXAIS ALA| 4,060 4,400 N340
201 LEt2 Y| 2,060 2,400 N340
01 AR 22| I 2,060 2,400 A 340
O=EUEZE=2s =& 1,260
@)=E=4 80,000 * B6IHA * 23] 960
osgs dH 300& =+ 1,0000H * 13l 300
OXNHESES 49 80,000 * 10 A& 800
206 M = Hl 2,000 2,000 0
01 X2t 2,000 2,000 0
oONdHEstes &I 7Y 2,000
O&A 2 5& 1,000,000& * 23] 2,000
OlMsS - A2 BSgR F&X 99,243 61,066 38,177
101 @124l 57,743 35,376 22,367
04 JI2ZtH 22 XNHEE 57,743 35,376 22,367
O0tME=2 BESsd B 57,743
Ol d| 53,6003 * 8% x 120 51,456
OAndEE= 51,456,000& * 4.5% 2,316
OIRLYEEZ 2,316,000& * 6.55% 152
O=30d=8g=2 51,456,000& * 4.5% 2,316
(@ME=1=0--! 51,456,000& * 1.5% 772
OMMES 51,456,000& * 1.42% 731
o422 = 0
201 LEt2 Y| 2,400 2,534 N 134
01 AP 2t2l bl 2,400 2,534 N 134
OOMSAIE B35 ot S8
80,000& * H5IH A 400
ORKRootME=E ot EE2= M
100& * 10, 00004 1,000
OOMES IS NMAS +T
100,000 * 5% x 23| 1,000
206 M = Hl 6,100 6,012 88
01 M= bl 6,100 6,012 88
Otds=28 FX &Y 6,100
OsJ1012 45 2,600,000& 2,600
OfdlotMsE EIXNLEDITM S)
50,000& * 50H 2,500
OtME= Y0l 200,000& ~ 5& 1,000
301 dEtE A= 33,000 17,144 15,856
09 HALAHIEA S 18,000 6,000 12,000
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B roe
0x > oY
4
™
S
r«

4
0x

el

SN FE - EA(EA) - MRAL

01
o

0l &t o

=

M
2Hm
==
£l
Ol
0y

Bl 400 823 2423
OEE=H=H 1002 * 4,0000H 400

301 LEE A 120,000 141,228 N21,228
J| 108,000
2,400
9,600

=

X6l 120,000 141,228 N21,228
Ooxdmol AEIX M =H 120,000,000& 120,000
Il 108,000

2,400
9,600

=

=}
0z
0
o
=

ol
=
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62,400 66,600 N 4,200
31,200
9,360
21,840

= M W
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402 DI2FKHE0| A 62,400 66,600 A 4,200
31,200

9,360
21,840

= M W

01 2I2tXt

M
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e
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62,400 66,600 N4,200
62,400,000 62,400

31,200
9,360
21,840
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0
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O == Iloll 24 34,500 16,300 18,200

= 10,350
Al 24,150

301 LEE NS 34,500 16,300 18,200

10,350
Al 24,150

H

MIIEtE4 3 34,500 16,300 18,200
OOtd=S=0l 28t moi=24 34,500,000 34,500

10,350
24,150

= M

HEfHwe M= EX 49,100 40,000 9,100
28,600
Al 20,500

t

101 1A dl 28,600 18,400 10,200
28,600

t

04 JIZtHZ22 s+ 28,600 18,400 10,200

OMEfH WE OLMSAZE E X 27,315,000& 27,315
27,315

=R == 1,285
ONEEEE B3 27,315,000& * 1.5% 410
410
Ot Mol 24 2= 27,315,0008 * 3.2% 875
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SN BEBI 2R BAEYY
HE: ABBN BYCA EZTI|UEA
MEHE A BEEH CREED
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
< 875
206 M= Hl 500 600 A 100
01 = Hl 500 600 A 100
oL 2 58 #¢ 500,000 500
307 21201 A 20,000 21,000 A 1,000
04 QIZFHALAIR B & 20,000 21,000 21,000
OMEHHWSAHS (A E2LS)EX &= &
SEHAUE 20,000,000 20,000
SdiOIEXM2 XJAAS 1,176,000 864,000 312,000
= 588,000
< 176,400
Al 411,600
403 XIS E X201 E 1,176,000 864,000 312,000
= 588,000
< 176,400
Al 411,600
02 S| 2SO0 CHEHTHE AL B 1,176,000 864,000 312,000
O£dOIEMel X&AY 1,176,000, 000& 1,176,000
= 588,000
= 176,400
Al 411,600
O =2 HIoHE X X 52,000 26,344 25,656
< 15,600
Al 36,400
201 £B-2dH| 14,400 2,900 11,500
< 4,320
Al 10,080
02 =224l 14,400 2,900 11,500
OOM=E2 THLXE 2H=(60Y)
14,400,000 14,400
< 4,320
Al 10,080
206 M= Hl 25,600 12,300 13,300
< 7,680
Al 17,920
01 =8l 25,600 12,300 13,300
OFHME A&, MEE 25 5 FMEH|
25,600,000& 25,600
< 7,680
Al 17,920
301 gt d= 12,000 11,144 856
< 3,600
Al 8,400
1MIIEBESS 12,000 11,144 856
ons7HE I 12,000, 000& 12,000
< 3,600




SN BFeRS MY
M MESAN HECA ZTI|GFA
el MEICAl BREA (B9 ®R)
= - - SHE|
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| | 3 5,400
d2gFdl(sgaeies s3yx) 315,232 97,509 217,723
Jl=234l 315,232 97,509 217,723
Jl23l 315,232 96,309 218,923
101 1A bl 249,448 0 249,448
01 2= 249,448 0 249,448
ox=lz22Y 249,448
OgEra 8,930% » 75% * 30AI2+ » 12& 241,110
OHAZH(ZHIE)
8,2213 * 1 « 25A12F + 128 2,467
Oogerd N (Ci=)
7,6583 * 30Al2t » 12& 2,757
O3=2a(+2) 8,650 * 30AI2t = 128 3,114
201 LBH2E| 22,294 37,009 A14,715
01 At 2t 2|l 22,294 37,009 A14,715
OJlegR=d 233l 9,694,000& 9,694
OJIE=ZHl (S&dl) 12,600,000& 12,600
202 4 HI 27,000 50,220 AN 23,220
01 =S LHAYI 27,000 50,220 AN 23,220
OJIEZ 27,000,000 27,000
203 R F=&H| 16,490 7,980 8,510
01 JI22H S =aH 3,300 0 3,300
OJ|22H L FaH| 3,300
OJN&EAH(42) 3,300, 000& 3,300
02 A H R =X 4,990 0 4,990
OFIMH R EY| 4,990
OJIZEH(100E LX) 40,000& = 1009 4,000
O & X (400 DX ) 30,000& = 339Y 990
03 Al =X A2 =X 4,000 0 4,000
OAHZAEHR =AY 4,000
OgtZae geF 4,000,000 4,000
04 FN2ILSFAH 4,200 7,980 A 3,780
ORNEYYRETY| 4,200
OJ=H(H&A 30010/5t) 350,000 = 12& 4,200
WREes(stdaucesr 330 166,160 2,086,121 A 1,919,961
HEHHK = 166, 160 2,004,080 A 1,837,920
WEHH X = 166, 160 2,004,080 A 1,837,920
701 JIEtSl HSHES 166, 160 2,004,080 A 1,837,920
01 JIEtSI HEES 166, 160 2,004,080 A 1,837,920
OB S B+==THHHE 22l 66,160, 000& 66,160
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—— A
N = 0 & AF S 99 N A
SN BABER GARHY
Ha: 9D PR URLBEA 25 HF
&l 365 MRE F= (9 ® =)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
s NEHY 32,742,377 49,974,674 N17,232,297
= 9,664,000
S 1,653,000
= 1,153,517
Al 20,271,860
9D JHRE N|}=ETA 25 HE=F 32,666,782 38,631, 135 N5,964,353
= 9,664,000
S 1,653,000
= 1,153,517
Al 20,196,265
365 MRst &HF 9,102,536 7,801,535 1,301,001
= 94,500
== 28,350
Al 8,979,686
st el d 22 566,348 98,520 467,828
201 gBt2Ay| 16,700 11,880 4,820
01 AP 2t 2| H| 8,760 7,700 1,060
OXNHX XN (CHEHIIE HMel)
60,0003 * 83 * 12& 5,760
OHA2JAANRA JI=2ER A
3,000,000 3,000
02 =224 H| 6,560 1,000 5,560
OB &2 AIRA B2Z2294| 1,000
Ot gE= 500,000& = 1A * 23] 1,000
Ot 222 MIAE HEES
20,0003 * 13 = 278Y¥ 5,560
03 A2 EH| 1,380 3,180 A 1,800
Ot 223 ElLA AL 1,380
Osl=9 80,000& * 13 80
O ALE 3t 100,000 * 13 100
OZ0rg 72¢ 100,000 * 404 = 13| 400
O 2 AHIH 200,000& = 400 = 13| 800
203 R F & 3,000 3,000 0
03 AIZH =X 2= X H| 3,000 3,000 0
ot PR =X 3,000,000& 3,000
301 et A= 97,360 64,640 32,720
09 HAIAHI BEAZ 97,360 64,640 32,720
otF el A& HAAS (HH|
2,200,000& * 22 * 13 48,400
otz 23 sXEE HEUI
70,0008 = 288H 20,160
osEH HHXAS YIS
100,000 = 288" x 13| 28,800
401 AlEHIZL £ 0HY| 441 522 19,000 422 522




2N
X ZH -
L= B
el

- RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 Al& H| 422,500 19,000 403,500
Ot &3 AIR4 & XD A2 XY
5,000,000& = 14l 5,000
OB HE S+ E I 2 AL
14,500,000 = {14l 14,500
OBAVAAME SEANY
403,000,000 * 14! 403,000
02 2elbl 16,120 0 16,120
o Zeldl 403,000,000& * 4.0% 16,120
03 Al 201 Y| 2,902 0 2,902
OA&ESE 0l 403,000,000 * 0.72% 2,902
405 XHAHFI S HI 7,766 0 7,766
01 XAt 2 Z F S| 7,766 0 7,766
OEtF &AL AHE 23572 7,766
OWA 1 (500L) 800,000& 204 1,600
OHMIE DI (16kg) 779,000 = 204 1,558
OgdbBI&E(B0" ) 1,200,000 * 2CH 2,400
O£l (6kg) 138,000 * 4CH 552
O& %I 462,000 * 20H 924
22 166,000 * 2J4 332
OFADI 200,000& * 2CH 400
MEMY D el 6,939,646 5,520,318 1,419,328
201 et 9| 29,590 8,810 20,780
01 AR 22l ] 6,650 8,810 A2,160
OUEHIIS ClHY Z2H =2
300,000& = 12& 3,600
OFAKRZBA EF 800
OFALASZ2X EEIH(AIS) 100,000 = 8¥H 800
oOMeMY D] L WE= IS 2t EE22 H &
450 * 5,000 2,250
02 2324 22,940 0 22,940
oOMeE2LHELXEA CCTV S22
100,000 = 1404 ~ 12& 16,800
OMEELAHELAXNEL HIR=2
20,000 = 12& 240
OMEE2LEHE & CCTV KXY
250,000€ = 14CH 3,500
OHEH OIS POAEHLY D EMR2
100,000 = 204 =12& 2,400
202 044l 2,200 4,500 A2,300
01 2L b 2,200 4,500 A2,300
OXAYUAH =HAYE SHHHEHA
20,000 * 2% x 55 2,200




SN BZBRALE VAEFYY
PRSI 10 R Q=BT A 25 EF
5 MR H=F (e &)
K- B8 S2(3H) - HSAY - B2 o A o SSa H RS2
207 A IR b 27,000 115,000 A 88,000
01 A& 49H| 27,000 115,000 A 88,000
OM3X HIIZ2H™MeII2HaEHE dA12EY
27,000,000& 27,000
307 212t01 & 6,872,016 5,392,008 1,480,008
05 A2t E =2 6,872,016 5,392,008 1,480,008
OMEHII =2 =2 2 6,224,016
OBEFd Jtol s
1,4433 = 154,000AICH = 12& 2,666,664
Op=Fe Jlo s
1,609 = 62,000MICH = 12& 1,197,096
OH==8 NH&gs
1,425% = 62,000MICH = 12& 1,060,200
O(F)HEXE 1 A
2,851& * 38,000MICH = 128 1,300,056
OUEHIIZ Hal?le +48
120,000& * 900E = 6& 648,000
401 AIEHIL 20| 8,840 0 8,840
01 A& Bl 8,840 0 8,840
O2eldtA Ol 4 4,420,000 * 24 8,840
MYDl SEHH =5 HE 2 33 1,407,542 1,290,477 117,065
206 M = Hl 1,406,542 1,105,578 300,964
01 = bl 1,406,542 1,105,578 300,964
OMYIIZEHHM RHASE HE 1,406,542
(@F1h=13= 1,214,776
-52l & 29& % 200, 00004 5,800
-102l & 36& = 3,280,0000H 118,080
-202l 5 56& = 5,200,0000H 291,200
-302I & 88& * 84,0000H 7,392
=502 & 1213 * 2,200, 00004 266,200
-1002! E4 218& * 1,347,40000 293,734
-0rCH (5021 H) 385& * 300,0000H 115,500
-0FCH (10021 &) 580& = 30,0000H 17,400
- AFZ (2021 E) 58& = 1,715,0000H 99,470
ozze 88,950
-502I| & 121& = 400,0000H 48,400
-0FCH (5021 &) 385& * 30,0000H 11,550
-0FCH (10021 E1) 580& * 50,0000H 29,000
oRzi=s=s 102,816
-202I &H 56& * 1,836,0000H 102,816
301 dEtE A= 1,000 1,000 0
11 IIEtE A2 1,000 1,000 0




2N

82
Hu: 9D RS VRAEBTA O HE
365

cHel: 365 TWRE EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OSYHRARASE RS &1 B43
500,000& = 23] 1,000
HAINA HAX P 189,000 216,000 A 27,000
= 94,500
= 28,350
Al 66,150
405 XHAHFI S HI 189,000 216,000 A 27,000
= 94,500
= 28,350
Al 66,150
01 XAt 2 E F S| 189,000 216,000 A 27,000
O&FAHINA HAX ESAE 189,000,000 189,000
= 94,500
o 28,350
Al 66, 150
Mo g8 0|2 5,666,815 7,408,835 N 1,742,020
= 31,500
= 63,000
Al 5,572,315
SAEF HII=2 MHel & 2 4,864,310 5,124,473 A 260,163
201 et 301,724 151,356 150, 368
01 AP 2t 2] H| 180,001 112,700 67,301
OSASRHIIE Hel4+42 UREE R0
272 = 5,000,0000H 135,000
OSAMZERHIIE 2 =222 HE
100€ = 100, 0000H 10,000
OSASEYH S 222 M
3,000& = 10,0000H 30,000
ORFIDAEXIMICH ZXEHZOE X2(202IH A
25) 370 = 13,51404 5,001
02 232%H4| 121,723 38,656 83,067
OMNE H&H&H S 224
1,804,800 * 639CH * 10.75/100 = 9/12& 92,983
OMNE H&HH Sald|
3,748 « 6390 ~ 12& 28,740
301 et A= 27,836 12,648 15,188
11 JIEIE A= 27,836 12,648 15,188
OZ2=SFH SASHFHIIS Hel=x2 A0
S SBAZ 1,000 « 46,392MICH ~ 128 = 5% 27,836
307 giztol A 4,534,750 4,960,469 AN425,719
05 QIZtRE S 4,534,750 4,950,469 A415,719
O(S)SASRHIIS +7 - 28 UAIGL4
= 77,000 * 180& = 220 3,049,200
O(SH)SAZFHIIEZE =& - 28 DIt ES
=2 95,000& » 22& * 365Y< 762,850




SN BFBARE VAEHDY
Ha: 9D PR URLBEA 25 HF
e XNEe 288 0l (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
O(SH)SAZRHIIZE HMelx=2
90,0008 = 22& * 3652 722,700
Meg 84352 13832 MAEAA 36, 165 34,062 2,103
201 LBt ]| 13,227 18,258 AN5,031
01 AP 22| H| 7,500 10,200 A2,700
oMeEs 2xti=s =X HE
1,000 * 5,0000H 5,000
oMz 2xtls NEgssua 29 1,700
O2AL=& 40,0008 * 403 1,600
O8£+=9 H& 50,0008 * 23l 100
OMEEEL)H EE 8 HE(SHIY)
80,000 = 1000 800
02 232%H4| 5,727 8,058 A2,331
OME=2HH(3R) 2222 450
Ostadse=g2 50,0002 *« 1JHA + 23] 100
QuEgsesE=2 300,000& = 1J0HA = 13 300
OETZANLES A AELA =42
50,000& = 13 50
OMEZ(3R)ME AlEEH KXY
3,514& = 1,501.54m 5,277
206 M = Hl 12,100 0 12,100
01 =4l 12,100 0 12,100
OHYBE =2vg 2g 7Y
100,000& = 5004 5,000
oMEBE 22408 7
300,000& * 100 A&~ 3,000
OHEZS HNEX =HE 2
350,000& * 1000 A& 3,500
OO0 £HE 25 22 (1002/H)
200& * 3,0000H 600
301 et A= 838 804 34
09 #HAIAHI BAZ 238 204 34
OFFANXNSMESE2S HE
7,000& * 178 x 23] 238
11 J|EtE A2 600 600 0
o132 AHM MDD EZAMZ 40,0008 * 15A 600
307 2iz2to| & 10,000 15,000 A5,000
04 SIZ2SHAAIH E & 10,000 15,000 5,000
ootuBIH LIis&H 1,000,000& * 103l 10,000
SEMHHIYE =M1 EX 346,500 42,500 304,000
= 31,500
= 63,000
Al 252,000




SN BABAARS HAYYDY
M g HRE M= A 28 EF
¢ Mo 228 08 CEERED)
= _ = s
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 et a = 346,500 27,500 319,000
= 31,500
=) 63,000
Al 252,000
MIIEEd=3 346,500 27,500 319,000
OsSZEHHE =H2Y 346,500,000 346,500
= 31,500
< 63,000
Al 252,000
SE A" =) 9,840 12,000 A2,160
301 LEE A= 9,840 12,000 A2,160
MIIEtE4 = 9,840 12,000 A2,160
OsoHgL) B43 9.840
Oseldg 1202 * 2,000kg 240
(OF 1= Fay= 320% = 30,000kg 9,600
SASFHII2 HEAHEI XM 410,000 541,500 A 131,500
401 AIEHIZ 2 HYI 410,000 541,500 A 131,500
01 A& HI 410,000 541,500 A 131,500
OSAMNESRHIIE HEAHSI HAXAY
2,050,000& = 200CH 410,000
HFE HIl=s2e 32,620 9,240 23,380
HIISHMCIAISE 22 32,620 9,240 23,380
201 LEt2A | 22,420 5,160 17,260
01 AP 2teltl 15,280 5,160 10,120
OmJIZ2 N=&ZZHE =2
8,000& = 53 = 12& 480
OTM7(HIIS2E BENH)
100,000& * 23 200
OBHMHIIE Hal+42
300,000& = 10E& 3,000
O=EMHEHII = =2=&H SX=
400,000 » 1 = 23 800
OHIIE s dzsaz
300,000& * 63l 1,800
OmJIE2 Hd XMl =2 M
3,000& = 3,000% 9,000
02 3224l 7,140 0 7,140
O X & el 7,140
@FE=1.] 1,685& = 154 = 108 = 200 5,055
O=cltdls 150,000& * 1CH = 102 1,500
OXtSxHAl 50,000& = 1CH = 13l 50
OE8= 400,000& = 1CH = 12l 400
OXtsS Xt BAZ 55,000& = 1CH = 13l 55
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SN

]
o
HM: %D WRS NFEHCA 0% HF

2 HIIE2 HM2AE &= (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
= 653,000
= 155,167
Al 440,165
02 2elbl 298,540 51,460 247,080
OHFATLAMLIHAIAY 22l
298,540,000 298,540
03 AlE 20| 4,795 9,582 N4 787
OFFT ZAMNE & SHEAIY AIEF0H]
1,913,332,000& = 0.250609% 4,795
HE=AN M2EHE ZEAMY 182,000 0 182,000
201 LBt | 7,000 0 7,000
01 AP 22| d| 7,000 0 7,000
OLXNZEEBX AF EE /2% & dHXE XM
&} 3,000,000& = 14l 3,000
ONMP2MHE X ZEAY 23 ASAF 21D
1,000,000 * 43| 4,000
301 et A= 4,000 0 4,000
09 SHAIAHI E A2 4,000 0 4,000
OM2HE AL AIY 204 A X=02 HIIS KA
AN Hd&X AS 50,000 * 40Y * 23| 4,000
401 AlEHIZL 2 0HY| 171,000 0 171,000
01 Al&H| 171,000 0 171,000
ONM2MHE X MY X MHSHISFHIIZ
=) 51,000,000 * 14! 51,000
ON2MHE X ZEAMY LXNEIELSEANESE
120,000,000& = 14! 120,000
A 2AEHESH OIS FoU=2AAIS 879,144 2,155,733 N 1,276,589
401 AlEHIZL 201 Y| 879,144 945,733 66,589
01 Al&H| 873,096 940,000 N 66,904
OXN=S15E 207 K| 2R =2 & 2 AH(L=280m)
50,000,000& * 14! 50,000
OSAUTE 324-7THK L2 AR MNR2T| 2 AH(
L=670m) 150,000,000& * 14! 150,000
OHlGt2sE ME=X =29 & X2 AHL=30m)
90,000,000& * 14! 90,000
O A26E AotA™ A HIZ2AHL=300m)
50,000,000& * 14! 50,000
OAZ285 530X L& =22 & X2 AHL=30
Om) 70,000,0008 = 14l 70,000
209|138 AGIE MY =2 EZZAHL=380m)
60,000,000& * 14! 60,000
O 49 14E 148-8BH X L& =2 X2 AH(L=
120m) 20,000,000& * 14! 20,000
OKXS15E 207H AN LA A FO=RAALA
AALEAHEA 490,000,000& * 3.94% 19,306




SN BFRRS HEIHY
M Y9 RS NAE=SEAN 25 EF
el HIIE MoAE &= (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OArel 12l 1358 X L& =22 & X3 AH(L=550
m) 70,000,000& * 14! 70,000
OB 12l 50BN R AME U SREHT
Ab(L=250m) 130,000,000& * 14l 130,000
Osde SHEALRI FH 2 EEIAHL=1,10
Om) 150,000,000& * 14l 150,000
OAtel1e] 1358 X2l 24 FRU=JAALY A A
A3 350,000,000& * 3.94% 13,790
03 Al S THHI 6,048 5,733 315
OX=1582 6L FRU=SJAMY FA AR
Chyl 90,000,000& = 0.72% 3,528
OA12I 202 & FRI=SJAYE F& AE2MH
=l 350,000,000& * 0.72% 2,520
HY2FZH (sHZ 22 ANAZY M) 75,595 11,326,818 A 11,251,223
Jl2 &3l 38,440 38,776 A 336
JlE&l 38,440 38,776 A 336
201 £B-2dH| 19,120 19,456 A 336
01 At 22l 17,920 15,256 2,664
OJlege=adZl 8,344,000 8,344
o=t (OIEdHl) 9,576,000 9,576
02 =24l 1,200 4,200 A 3,000
O A& EHl =Xl 1,200
OLDBE= AL 15,000,000& = 10H * 6% 900
OFX=EAMI KX HI
3,500,000& = 10H * 6% 210
O AMAMIEDI 1,500,000& = 1CH * 6% 90
202 O4dl 15,120 15,120 0
01 =L 4 1 15,120 15,120 0
OJIZEZH 15,120,000 15,120
203 R Z= Yl 4,200 4,200 0
04 EA2IYRFLH 4,200 4,200 0
ORN2EYRF=AHI 350,000& = 123 4,200
ol 2d | 37,155 11,288,042 A 11,250,887
oI 244l 37,155 6,044,738 A 6,007,583
101 @124l 37,155 6,044,738 A 6,007,583
03 I AHA2ZZ2HE > 37,155 6,044,738 A 6,007,583
O3RA 2= 37,155
OoJles 2,000,000& * 19 » 123 24,000
OozZ2s+% 183, 1433 » 1H » 128 2,198
O&E=g 100,000& * 1Y » 123 1,200
OJHAIXI & bl 115,000& » 1€ » 128 1,380
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N & o & AF & H Al A
AN 3222 A 2el
M HIISES NEctsE &Ed ANE2Y
& =20 Syot= HII2 MelAld (&)
= - L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
sgzze =28 2l 14,841,143 15,576,786 AT735,643
HII=Z2E2 NE3stol=s &&8d ANE2H 10,388,897 11,211,241 A 822,344
=010l ¢taol=E HII=S HMelAl4 9,983,149 10,973,965 A~990,816
A AN 22 363,353 200,663 162,690
201 Let24dy] 1,163 1,163 0
02 23=2gHl 1,163 1,163 0
OZALAANL(HUIMIAS, WEBEHLES 5)
NERYRES 1,163,000& * 14 1,163
206 = Hl 4,000 3,000 1,000
01 MZ 4l 4,000 3,000 1,000
OLAANEYT HEXNGSE gt2s 7L
400 * 10,000kg 4,000
307 21201 A 182,500 182,500 0
05 RIZt2IEt = 182,500 182,500 0
Os4=% HJIZ2 24X HIS
500,000 = 365 182,500
401 AIEHI L 2 CHYI 175,690 14,000 161,690
01 A& HI 174,610 14,000 160,610
Fe0sZasd =& ¢ Aci2el
250@ = 35,000m x 23| 17,500
OZ20/#F2Y HESO0AL HEAL
150,000,000 * 14l 150,000
OF=Z20/2d S NME=0IAE SFSAY AAl
HAHESR 150,000,000 * 4.74% 7,110
03 Al S I 1,080 0 1,080
OFZ20/2d & ME=0AME &FEAY A&
Sl 150,000,0002J * 0.72% 1,080
Es HEE 2922 497,615 2,015,569 A 1,517,954
201 L2l 255,672 234,906 20,766
01 At 2t 2l 105,038 77,364 27,674
OME X SZFEEHM =2 50,760
omAMYE BES
370,000& = 10Ha = 123 4,440
OZ9MEd Xot= SAME & HiX=
180,000 * 404 * 42| 2,880
OZHWE Z¢ Xste ZAH(MEES)
150,000 * 10Ha * 42 D] 600
OZGMEE =02 Kot BAH(SE=S)
300,000& * 9 * 42| 10,800
OMZZSEMHEH 8=+ £ M=
370,000& * 4 = 42 0| 5,920
OMSEZMHEE Xot 2AE L B =
150,000& » 14042 » 42 7| 8,400
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AN 3222 A 2el
o HOISS NBsGs Ve NESY
& =20 Syot= HII2 MelAld (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
OXS XAl 28 HAl 792
OLrESE 260,000& = 1CH = 13l 260
OAL83t= 26,000 = 20H = 13 52
OUgst=(8.58) 120,000& = 1CH = 13l 120
g Z(158) 180,000  2CH = 13l 360
OIAMERL S (XHE) 989
Oaxdsd 47,000& * 1CH = 23] 94
OAE3st= 66,2503 = 201 =23l 265
O=8st=(5E8) 160,000& = 1CH = 23l 320
OUEst=(8.58) 155,000& * 10H * 23] 310
oOXUEE= (MY, TE) 2,160
OL8sE 230,000& = 1CH = 12l 230
OFE=J-i3— 290,000& = 2CH = 13 580
Os8st2(58) 550,000& = 100 = 13 550
OUEst=(8.58) 800,000& = 1CH = 12l 800
O=&H E82 2,100
O=2401 2 48 350,000& = 6CH = 12l 2,100
Oxg & SHH M === 481
Oxt& 50,000& = 504 = 1=l 250
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OEE HIIANE FX 2t 5,500
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O&E &7 (3P » 10SQ) 6,000& = 500M 3,000
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N = 0l & At & Ml A

AN 23 2A=2R ot-SH D
=2t
PN

M ot2el
@ Xot= 25 22| (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Sz 2% St 12,539,406 352,717 12,186,689
< 96,000
Al 12,443,406
of=2te| 1,118,906 352,717 766,189
= 96,000
Al 1,022,906
Kot B 22| 368,906 352,717 16,189
= 96,000
Al 272,906
Aot Al 2 2el 48,906 14,167 34,739
201 Let24d] 13,906 9,167 4,739
01 At 22/l 850 1,160 A310
CETTER=Y] 850
ONst+ +EEZY AB H4Y 2
2,500& = 2004 500
OXat+ OIBRE3 DXNAN 7L
70,0003 » 5% A 350
02 =224l 13,056 8,007 5,049
03323 2 HA 13,056
OXldte EXx2=Y M3 4,896
Jlgg(Msg 28)
6,000& * 68 * 128 4,896
OXdtes BEX2=Y SHR3 8,160
Jleg(znE Zg)
10,000& » 68 » 12E 8,160
401 AIEHI L 2 CHYI 35,000 5,000 30,000
01 A& HI 35,000 5,000 30,000
OXiot &X3 HI3XMal 2,500,000& * 25 5,000
OXots Bz FY| 20,000, 000& 20,000
OXlots EX2=Y HH EY 10,000, 000& 10,000
Aot 22252 I ALY 320,000 160,000 160,000
< 96,000
Al 224,000
401 AIEHI L 20 320,000 160,000 160,000
< 96,000
Al 224,000
01 A& Bl 317,696 159,000 158,696
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< 95,309
Al 222,387
03 Al 2 THHI 2,304 1,000 1,304
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ot 01 RY=a 21 AANEBS ALY 300,000 300,000
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HHSHALH (P A2 ot HY) 21,200 21,200
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201 Bt A | 10,640 10,640
01 At 22l Yl 10,640 10,640
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01 2401 Hl 7,560 7,560
OZ2LAHI(JI=H 7,560,000& 7,560
203 &R =&H| 3,000 3,000
04 ENSHERFA 3,000 3,000
ORANSIEYERE 3,000,000& 3,000
S (st@&eEL ot ,399,300 11,399, 300
HEHeH XS (SHC2 6 29) ,399,300 11,399, 300
SHHAGI=XMHEIE2Y BEN=2 11,399,300 0 11,399, 300
701 JIEtS HSHEZ 11,399,300 0 11,399,300
02 BIILELEIIHINTE= 10,000,000 0 10,000,000
og¥HUol=HelEdS2I (&9Hl)
1,250,000,000& * 8& 10,000,000
03 BIIHELEIIAHANEBREES 1,399,300 0 1,399,300
oOSHULotx=XHel &S (AFLHI)
174,912,500& = 8& 1,399,300
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Hees(stgdHcle st=AE ) 9,177,393 8,830,245 347,148
HEHHKE 9,177,393 8,830,245 347,148
JIEISE3HNEES 9,177,393 8,830,245 347,148
701 JIEt3I HEEES 9,177,393 8,830,245 347,148
01 JIEtZIHEES 9,177,393 8,830,245 347,148
Oot=21 &l 4,219,944 ,000& 4,219,944
OGSt el®d EX ALY 1,229,567,000& 1,229,567
O=s0HEOSot=S &I ALY 310,525,000& 310,525
ONEE=333HelAL 548,777,000 548,777
OHE22YE EFXEAE 2,868,580,000& 2,868,580




